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QUESTION 1

A Distributed Resource Scheduler (DRS) cluster is displaying a message that recommends the migration of virtual
machines, even though the cluster is currently balanced. What is the likely reason for this? 

A. The DRS cluster does not satisfy the resource pool reservations. 

B. The DRS cluster is not configured with shared storage. 

C. The DRS cluster is in a critical state. 

D. The DRS cluster contains hosts with CPU compatibility issues. 

Correct Answer: A 

 

 

QUESTION 2

An administrator is deploying a virtual machine from a template. 

Assuming all of the inventory objects below exist in the implementation, what is the highest level in the vCenter Server
hierarchy to which a virtual machine can be deployed? 

A. Datacenter 

B. Cluster 

C. Resource Pool 

D. Host 

Correct Answer: B 

 

 

QUESTION 3

Which VLAN configuration requires switch connectivity defined as an access port? 

A. Private VLAN 

B. External Switch Tagging 

C. Virtual Guest Tagging 

D. Virtual Switch Tagging 

Correct Answer: B 
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QUESTION 4

An organization\\'s wants to ensure that if a host in a High Availability (HA) cluster fails, critical virtual machines resume
operation even if there are insufficient resources to continue to run all virtual machines in the cluster. Which HA setting
should be configured to ensure the cluster operates as expected? 

A. VM restart priority 

B. Admission Control policy 

C. VM monitoring sensitivity 

D. das.checkVmStateDelay 

Correct Answer: A 

 

 

QUESTION 5

An administrator needs to modify a virtual machine alert to increase the threshold value of the trigger. Once connected
to the vCenter Server, the administrator navigates to the virtual machine to make the change. However, the
administrator is unable to edit the alarm. 

What is the reason that this alarm cannot be edited? 

A. The alarm was not defined on this inventory object. 

B. The administrator is not the owner of this inventory object. 

C. The alarm was not created by the administrator. 

D. The alarm has not been acknowledged. 

Correct Answer: A 

 

Latest VCP-550 Dumps VCP-550 VCE Dumps VCP-550 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest VCP-550 Dumps | VCP-550 VCE Dumps | VCP-550 Practice Test                                3 / 3

https://www.geekcert.com/vcp-550.html
https://www.geekcert.com/vcp-550.html
https://www.geekcert.com/vcp-550.html
http://www.tcpdf.org
https://www.geekcert.com/vcp-550.html
https://www.geekcert.com/vcp-550.html
https://www.geekcert.com/vcp-550.html

